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NATIONAL MEANS-CUM-MERIT SCHOLARSHIP EXAMINATION — 2023

| MODEL PAPER |

T : 180 fiFe MAT AND SAT quTis : 180

Time : 1

80 Minutes Max. Marks : 180
wienfay & fere fder / Instructions to Candidates

Y9I B IR oA W Ugdl frreferiaa fieen @ e 9 ufen|

Read the following instructions carefully before you answer the questions.

YT e THR, o b 3maes 99T 9= ¥ fo=m 1. Please wirte your Roll No. as given on your
W%WW(@W‘#WWW) Qr?g]tl)?)?;n Card, very clearly (only one digit in
SEIRU Example :-

|

2. wmﬁgﬁwﬁf@rsz qtz—r%,afﬁwa’rqea 2. This question paper booklet contains 32 pages.
XH B B AUl 8IS T | Lasttwo pages are left blank for rough work.
3. YD Y9 P FTX, SUR-UP A I Y99 W& 3. One ovallcircle of correct answer should be
P A T U fmen) A A 9! fadeu aren W darkened by the candidates with Blue/Black ball
& 3rgel 6 | el [ Bret diel U W TERT BY Pen of corresponding question of the OMR sheet. If
Al TI%YT.? B TR TR G T 7 W A scanner is unable to read the darkened oval/circle
Foreard s e e then the responsibility lies on the candidate.
4. wmﬂgﬁﬁmﬁ@"]so yeafeuuE |t 4. This question paper booklet contains 180
T AP D | questions. All questions carry equal marks.
5. WWﬁ@m(ﬁW)ﬁW%| 5. All questions are printed in Hindi and English
(Bilingual)
6. YT BITORIHD ABTTE S| 6. Thereis No Negative marking in questions.
A : 1 SHYRASTH YT I TR T T SR S g g 10 %1 1R Bae ¥ SR 6 & ifcrRead w8 o T
feRag|
2. iR ST area o yei ¥ i Fr=Tar are Wi oR fee< AT & 9=l ) e AT ST |
Note: 1. Do notwrite anything anywhere in the booklet except your Roll Number and Rough Work at the place
meant forit.
2. Incase any difference is found between Hindi and English medium questions, Hindi medium questions
will e treated as correct.
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MAT - Q. No. (1 to 90)

PART - A

AARS  JrIaT
fader ue (1-10) - RU 70 fawedl # & g U<
S BIRTY |
RICACIIR SR G 2 B IS B G G DR
HIRTY ST o TR MGt & S sfae B
SR -

Problem Figures:

AT

Answer Figures

I

I

-0
*—2o
eranad

il

LLC VI (=Y B (o2 S (o B (=S T € SRS B <) S €S B (o0
(@1 (b)2

(©3 (d)4

(5

RICACIIR SR G 2 B IS B G G DR
BTG ST Ui TR il o ST $jgell &l

MENTALABILITY TEST
Direction : Question (1-10) :- Find out missing term
from the given alternatives.
Select a figure from below answer figures that will

continue the same series in Five problem figures :-

Problem Figures:

L AASEEA

Answer Figures

I

I

-0
*—2o
erraenad

il

LLCYI (YR (o2 B (o B (=S N € SR e S B ) S €S B
(@1 (b)2

(©3 (d)4

(5

Select a figure from below answer figures that will

continue the same series in Five problem figures :-

SR wRgfl—

Problem Figures

Answer Figures:

Problem Figures

Answer Figures:

B s ta- ) [FATA -] Tafa~Fr-al B T e 4a-) [Fata -3 uao.—-én-g--aé
- : - - (o] Qi OjIn O @ -0 U -

oslioskogl o9° 8 B 8 ®loil °8 © oSiosliasl osF 9B °8 ®loh B °

Ay By (&Y D) ') (1 (2) (3 (4 (5 N By (b)Y B (M 2y 3y 4 ({5

(1 (b) 2 (a)1 (b)2

(©)3 ()4 (©)3 (d)4

()3 ()3

RICACIIR SR G 2 B IS B G G DR
BTG ST Ui TR il o ST $jgell &l

Select a figure from below Answer figures that will

continue the same series in Five problem figures :-

SR wRgfl—

Problem Figures:

Answer Figures

Problem Figures:

Answer Figures

AR sl CRGAR AT ARSI AR S
@A (B © @ E (@ B % S @ B © O E Mm@ e &S
(a)1 (b)2 (a)1 (b)2
(c)3 (d) 4 (©)3 (d)4
(e)5 ()3
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4. T & TS NGl H W TH MG T @IT 4. Select a figure from below Answer figures that will
BHIFTY ST Ul FHRIT 3MGfadl bl ST $jgell Bl continue the same series in Five problem figures :-
CINERCCHI R
Problem Figures: Answer Figures: Problem Figures: Answer Figures:

T
Elicgiafialsuliisc]Hjaiys Elicgiafialsuliisc]Hjaiys
Ay ® (©) O & M @ @ & 5 Ay ® (©) O & M @ @ & 5
(a1 (b)2 (a)l (b)2
(©)3 (d)4 (©3 (d)4
(©)53 (35
5. i & TS SNghrl H W S MG H @IT 5. Select a figure from below Answer figures that will
BHIFTY ST Ul FHRIT 3MGfadl bl ST $jgell Bl continue the same series in Five problem figures :-
CINERCCHI R
Problem Figures: Answer Figures: Problem Figures: Answer Figures:
>, I< < < < < < > > > > |< < < <<i|=< < > > >
23231232355 S5 ]s5|288s 38 23231232355 S35 38
(A) (B) (© (D} (B) (D (@ (3) (%) (B A B © B} B (M @ @) @ 6

(a1 (b)2 (a)l (b)2

(©)3 (d)4 (©3 (d)4

(©)53 (35

6. M & TS IMERAT H W TH MG T @FT 6. Select a figure from below Answer figures that will
BHIFTY ST Ul FHRIT 3MGfadl bl ST $jgell Bl continue the same series in Five problem figures :-
CINERCCHI R
Problem Figures: Answer Figures: Problem Figures: Answer Figures:

3 [<] ()] X [4) Q X = 3] 3 [+ [s}{e] X [4) Q X = 3]
5 || % |8© 8 W 9 g = s | = | 5 |8 8 W 9 g =
2] In] Sz = = 2] =) x Q 2] g ain = = ] s} x [+)
Ay ® © © & M @ & @ G (B ® © O E M @ B @ ®
(a)l (b)2 (©3 (d) 4 (a)l (b)2 (©3 (d) 4
(€3 (€3

7. A & S engpfrl # W SW SMGfd &1 W 7. Select a figure from below Answer figures that will
BHIFTY ST Ul FHRIT 3MGfadl bl ST $jgell Bl continue the same series in Five problem figures :-
CINERCCHI R
Problem Figures: AnSwer Figures: Problem Figures: AnSwer Figures:

L L LI/]L.L.M.? Li L LI/]L.L.ﬂ.f
a0 a0
@A) B © O E ) @ @ @ & @A) B © O E ) @ @ @ &
(a)l (b)2 (©3 (d) 4 (a)l (b)2 (©3 (d) 4
(€3 (€3
NMMS
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8. M & S NGl H W TH MG T @IT 8. Select a figure from below Answer figures that will
BHIFTY ST Ul FHRIT 3MGfadl bl ST $jgell Bl continue the same series in Five problem figures :-
CINERCCHI R
Problem Figures: Answer Figures: Problem Figures: Answser Figures:

IEERERENIERE e aEaEY CTY T3 A o) e e [ e 2 )
A (B © o & O @ @ @ 6 Al (B © @O & O @ @ @ 6
(@)1 (b)2 (@)1 (b)2
©3 (d)4 ©3 (d)4
(©)53 (35

9. T & TS IMFRAT H W TH MG HT @I 9. Select a figure from below Answer figures that will
BHIFTY ST Ul FHRIT 3MGfadl bl ST $jgell Bl continue the same series in Five problem figures :-
CINERCCHI R
Problem Figure Problem Figure

010 Answer Plgures 010 Answer Plgures

-Q [ Q|| 0o -0 [ alfo
O 4 D o O 4 D o
o] N 0 o [e) Q © b o] Q &) Q
? ?

ol @ ) @ (d ol @ ) G (d
(a1 (b)2 (a)l (b)2
(©)3 (d4 (©3 (d)4
(©)53 (35

10. < & S engfodl § W W eM@fd &1 I 10. Select a figure from below Answer figures that will
BHIFTY ST Ul FHRIT 3MGfadl bl ST $jgell Bl continue the same series in Five problem figures :-
CINERCCHI R

Problem Figure Problem Figure

% Answer Figures % Answer Figures

; Z \ Z

? A ? R

\\\ f2) (b) S o \\\ () (b) S G
(@)1 (b)2 (@)1 (b)2
©3 (d)4 ©3 (d)4
OR OR

11. 9 F9R sfEar § "uAfas” & WM WR AT 11, What number comes in the place of "question mark”
i 3T § ~— 7,10, 8, 11,9, 12,7 in:-7,10,8,11,9,12,7?

(a)7 (b) 10 ()12 (d) 13 (a)7 (b) 10 ()12 (d) 13

NMMS
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12. 9 @R sfEar  “UsAfaR” & WM W $IAT 12, What number comes in the place of "question mark”
3 AT & —1,3,5,7.9. 11,2 in-1,3,579 11,2
(a) 10 (b) 15 (a) 10 (b) 15
© 13 (d) 12 © 13 (d) 12
13. 9 F9R sfEar § usAfas” & WM W $IAr 13, What number comes in the place of "question mark”
3 AT & — 21, 12,21, 16, 21, 20,21, ? in-21,12,21, 16,21, 20, 21,2
(a) 24 (b) 22 (a) 24 (b) 22
(©)21 (d) 23 (©)21 (d) 23
14. 79 F9R sfEar § “UAfaR” & WM W AT 14, What number comes in the place of "question mark”
3 ST & — 14,28, 20, 40, 26, 7 , 32, 64 in - 14, 28,20, 40, 26,7 . 32, 64
(2)28 (b) 52 (2)28 (b) 52
(©) 58 (d) 26 (©) 58 (d) 26
15. 91 J9R sfEar § “usAfas” & WM W $IAr 15, What number comes in the place of "question mark”
3 AT & —1,1,2,3, 5.8, 13,21, 9 in-1,1,2,3,58, 13,21, 2
(2)21 (b) 38 (2)21 (b) 38
(c) 34 (d) 40 (c) 34 (d) 40
16, @8 oA g ST 91 9 3T © — 16. Choose the figure which is different from rest :-
N7 71=| N7 71=|
(y @ (3 ) ) (y @ (3 ) )
(@)l (b)2 (@)l (b)2
(©)3 (d)4 (©)3 (d)4
©)5 ©)5
17. sf@ar 9§ T 61 g — 17. Choose the wrong item in series :-
1.2.4.8.16,32, 64,125 1.2.4.8.16,32, 64,125
(a) 125 (b) 32 (a) 125 (b) 32
(c)4 (d) 8 (c)4 (d) 8
(e) 16 (e) 16
18. 93 for=x ﬂﬁ ST 9Tl | AT © 18. Choose the figure which is different from rest :-
D [@lalb]© D [@lalb]©
(1 (@ @& ) (&) (1 (@ @& ) (&)
(@)l (b)2 (@)l (b)2
(©)3 (d)4 (©)3 (d)4
(©5 (©5
NMMS
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19. @8 fora g ST 91 9 3T © —

VW IMAVIWW

M @ @ @ B
(a)l (b)2
(©)3 (d)4
©5

20. 9% foa g S 9 A AT § —

AlFIZIEIN

m @ @ @ 6

(a1 (b)2
(¢)3 (d)4
(e)5

21. IR fadcul & ¥ uar o, o d¢ fewrE 2dr 2 o9
g1 gReE dfe (X) @7 AR War & 91 Asd
T

&

(X) (1) 2)

(a) 1 (b)2 ©3 () 4
22. IR fawei § & udm &, S 9 @ <ar1 § o9
g1 gReE dfe (X) @7 AR War & 91 Asd

T
(a1 (b)2 (©3 (d)4

23. IR fadcul & ¥ uar &, o d¢ fewrE a1 2 o9
g1 gReE dfe (X) @7 AR War & 91 Asd

19.

20.

21.

22,

23.

Choose the figure which is different from rest :-

VW IMAVIWW

M @ @ @ B
(a)l (b)2
(©)3 (d)4
©5

Choose the figure which is different from rest :-

AlFIZIEIN

m @ @ @ 6

(a)1 (b)2
(©)3 (d)4
OR

Find out among the four options, which appears when

we fold the transparent sheet (X) along the dotted line:-

&

(X} () (2) 3 4

(a)1 ©)3

Find out among the four options, which appears when

(b)2 (d)4

we fold the transparent sheet (X) along the dotted line:-

o) (1) @ @ )
(a)1 (b)2 (c)3 (d)4

Find out among the four options, which appears when

we fold the transparent sheet (X) along the dotted line:-

B

ol [4d 4 d 4 = [4d 4 d 4

o w e @ ® o e e w

(a)l (b)2 (©)3 (d) 4 (a)1 (b) 2 ©)3 (d) 4
NMMS
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24, IR fadpcul & & yar &, O d9 fewrE T 2 o9 24.
g1 gReE dfe (X) @7 AR War & 91 Asd
T

v A S T T I W
X} n (2) (3) (4)
(a)1 (b)2
(©)3 (d)4

25. IR fapcul & ¥ uar &, O d9 fewrE T 2 o9 25.
g1 gReE dfe (X) @7 AR War & 91 Asd
T

.............

Xy M (2) (3) {4)
(a)1 (b)2
(©)3 (d)4

26. = v WU Sy H, @i Sfee¥i F1 ulHEE 26.
a1 7, Frger aftei &1 ufafifc o @ &k
T o &1 U &= 2 | fea ser @ e
ST Sfder 3R Ao TFl § -

k
D

ST u
. ol
(a)U (b) T
©P (d)S

Find out among the four options, which appears when

we fold the transparent sheet (X) along the dotted line:-

v A S T T I W
X} n (2) (3) (4)
(a)1 (b)2
(©)3 (d)4

Find out among the four options, which appears when

we fold the transparent sheet (X) along the dotted line:-

...............................................

Xy M (2) (3) {4)
(a)1 (b)2
(©)3 (d)4

In the diagram given below, Square represents Doctors,
Triangle represents ladies and circle represents surgeon.

By which letter the ladies who are both doctor and

surgeon (-
e
P y R
ST u
q .
(@)U T
(c) P @S

NMMS Page 7 of 32



27. < fau v oW ¥, fhas ANT AT 9ol dread 27,

T
English (
. —
Tamil S
(@K M
©0 (dL
(&N

28, < faU TQ g #H, RS wWR AR T uiiee 28,

PRI ©, T I Afdd BT YRAIFRE HIar © iR
I g&u BT IR e €1 fhae ey @R
F A @ T8 & -

/'f z

|4
(a)2 (b) 3
(c)4 (d)5

29, S feU T SR BT JTIAT BN, AT AN Bl 29,

T a1 g el 21 fhds T dad U
AT ST © —

(_7// ¥ engsh
Marathn/ 47Zu.-~———\\

-~
-7 3/ \,

\/\t / '/ 2 A

i

9 L
s 11 Hindi

0 — b
. Telugu
(a)37 (b) 19
(c) 20 (d) 40

(e) 42

In the Diagram given below, how many people speak

all three languages :-

English i

N

Tamil \\i_/}
(@K M
(©0 (dL

(e)N

In the Diagram given below, Triangle represents healthy
people, Square represents old person and circle
represents men. How many men are healthy but not

old :-

(a)2 (b)3
()4 (@5
Study the diagram given below, the number represents
number of people. How many people know only one

language :-

(_7// ¥ engsh
Marathn/ 47Zu.-~———\\

- ~ g \\\

~ 3] ™
\\i /‘Tf/ 2 \

N 8 11' LHlﬂdi
pti} —

Telugu
(a)37 (b) 19
(©) 20 (d) 40

(e) 42
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30. BT 9 3N Yedl, Sl YA ¥ A @T & -— 30, Which Venn diagram corresponds to earth, water and

land :-

P \ N R
()‘(FD\ (b)f 9 ()‘(FD\ (b)f 9
N . N pE)

ff-"m \( N (‘> ,f""_w \( N (‘>
IR Bl @y ©1 ) @y

o o e et

© \U <\ © \U <\

31. a8 df9F g S BTN (X) BT Uh &9 7 A1e7 W 31, Choose the box that will look like if we fold the sheet

T g < - of paper (X) into a cube :-
. .
Y v v ® FTo Yo
7 7
(a) 1 and 2 (b)2and 4 (a) 1 and 2 (b)2and 4
(¢c)2 and 3 (d) 1 and 4 (¢c)2 and 3 (d) 1 and 4
32. U UMY P F 33ty Refaat fewe 12 €1 32, Three different positions of a dice are shown. How
2 ﬁg&ﬁ It AP & A fbas fag 7 - many dots are on opposite to face with 2 dots :-
Q2 K2 Q2 K2
&
(a)l (b)2 (a)l (b)2
(©)3 (d5 (©)3 (d5
33. Udh UM & BT Wbl W 3R A, B,C,D,E3IRF 33. Sixfaces of a dice are marked with alphabets A, B, C,
Jifhd €1 U B 3 IR Wbl oz, e D, E and F. The dice is rolled 3 times, leading to
freferRad fa=me o 81T © ¢ following configuration.
OOMO, OOMO,
e P e e P e
"A" & fUdT 1T RR @il — Find the Letter opposite to "A" :-
(a)B b C (a)B b C
(©)D (DE (©)D (DE
(©F (©F
NMMS
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34. 98 diad ﬂﬁ S BRTST (X) B U 89 # Aled WX 34, Choose the box that will look like if we fold the sheet
var fewrsg ? - of paper (X) into a cube :-
] ]
= Y & v L% 9 9
L6 =6
(a) 1 and 3 (b)2and 3 (a) 1 and 3 (b)2and 3
(¢)1,2,3 and 4 (d)3 and 4 (¢)1,2,3 and 4 (d)3 and 4
35. TP U DI T 3re—arerT Rerfoai fewreg 1€ €1 35, Two different positions of a dice are shown. When 1
9 1 999 $W BT &, d 7 fha fag BT — 1s at top, how many dots will be at bottom :-
(a)2 (b3 (c)4 (d5 (a)2 (b3 (c)4 (d5
()6 ()6
36. < fau U fAeedi § W BT fdbey fav v ¥e@ 36, Choose from configuration 1, 2, 3 and 4 which one of
&1 <uur gfafd g — them resembles the mirror image from right of the text
below :-
ANS43Q12 f ANS43Q12 f
(1) AMZREQIS (b) CIQER2HA (1) AMereQIC 2) SIoekenA
(c) 2MAEROSI (d) 1SOrEAMR (3) 2rAEROSI 4) 1SOMEAMR
(a)l (b)2 (©)3 (d)4 (a)l (b)2 (©)3 (d)4
37. - feu v fAeedi § W BT fdbey fav v ¥e@ 37, Choose from configuration 1, 2, 3 and 4 which one of
&1 <uur gfafd g — them resembles the mirror image from right of the text
below :-
MALAYALAM [ MALAYALAM [
(1) MALAYALAM (b) MAJAYAJAM (1) MALAYALAM (2) MAJAYAJAM
(C) WYrvVAYTYIN (d) MAIAYAT AM (3) WYTVAYTYW (4) MAT AYAT AM
(a)l (b)2 ©3 (D4 (a)l (b)2 ©3 (D4
38. < fau v fAeedi § W BT fdhey fav T v 38, Choose from configuration 1, 2, 3 and 4 which one of
BT o gfafem & — them resembles the water image of the text :-
NUCLEAR NUCLEAR
(1) BVErCUM (b)) MNCIEVEY (1) BYErCUn @) VUNCIEVY
() uCrave (d) UNCT EVE (3) nucrave (4) UNCT EVE
(a)l (b)2 ©3 (D4 (a)l (b)2 ©3 (D4
NMMS
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39.

40.

I fav U famed § 9 =aT fdden few e ' 39.

(X) BT oIt ufafem & —

{X) (1) (2) (3 (4)

(a)l
(©3

(b) 2
(d)4

I fav U famed § 9 9T fdden few e ' 40.

(X) &1 <dor gfafew &

£ |25

elisy

(X} (%) (@) (3) (4)
(a)1 (b)2
(©)3 (d)4

frfafad STFeR @ MR W 9T 41-43
P SR faar ST =Ry
1LA#B®T 3R §B,AD 1Hiee < T
2A$BHT 3R ¥BAD | Hlex SR # 7|
3A*BHT 31f €B,AD a1 1 HleX W 7 |

4 A@B® 3 8B A 1 HWiex <o # 2

5. 9% Yo H 91 A Us AR B G SR DI
3R 2|

Choose from configuration 1, 2, 3 and 4 which one of

them resembles the correct water image of (X) :-

{X) (1) (2) (3 (4)

(a)l
(¢)3

Choose from configuration 1, 2, 3 and 4 which one of

(b)2
(d)4

them resembles the correct mirror image of (X) :-

£ 5259|751

(X} (%) (@) (3) (4)
(a)1 (b)2
(©)3 (d)4

Problem 41-43 should be answered based on the
following information

1. A# B means B 1s at 1 meter to the right of A.

2. A'$ B means B is at 1 meter to the North of A.

3. A * B means B is at 1 meter to the left of A.

4. A (@ B means B is at 1 meter to the south of A.

5. In each question first person from the left is facing

North.

41. X@B*P® FURP, X & g # fH faem #  41. According to X @ B * P, Pis in which direction with
T— respect to X :-
(a) North (b) South (a) North (b) South
(¢) South-West (d) North-East (¢) South-West (d) North-East

42, P#R$A*USD FJUR, P Hae # U faem § 42, According to P# R $ A * U, in which direction is U
g - with respect to P :-
(a) North (b) South (a) North (b) South
(c) West (d) East (c) West (d) East

43. M#NSTSD 3MER, T, M & e ¥ fea feem § 43, According to M # N $ T, T is in which direction with
T— respect to M -
(a) North-West (b) South-East (a) North-West (b) South-East
(¢) South-West (d) North-East (¢) South-West (d) North-East

NMMS
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44.

45,

46.

47.

48.

49.

50.

VXA NZS SR 21 I P23 <fRor
g @ Yfpa feem & g P2 —

(a) South (b) South-West
(c) North (d) South-East
(e) East

T TeHT 5 THAT IR0 $1 3IR FAdT & 3R TR
q1fet 3R e oaT 2 1 3 fo gem & 91¢ 98 <
ST © 3R 5 B =rdr © | 31 I8 IRMd I
q fpa feem # 8§ —

(a)East (b) West

(c) South (d) North

IfE | 4§ 3 9o 8 3R S9! AT & ¥g SR
fa—m & &, 1 8¢ @1 g3 @ e -y —

(a) <RIT (b) uf¥em

(c) gd (d) ST

U TS DT 3 & ¥ Y& TR 7T & fob 07
g’ 10 fFe &1 99T 83 2 | g1 H el WY
AT 81 ET 8NN i—

(a) 5.50 (b) 4.50

(c) 5.40 (d) 4.40

WIF 31U 3iBH 8.30 Am WR Ugd AT &1 {F 15
e 993 yd o1 | qaRd it &1 FeiRa w5
HAT AT —

(a) 8.25 Am (b) 8.45 Am

(©) 8.15 Am (d) 8.05 Am

faeell & 2R & forw 8¢ 40 e 4 &9 =refchl 2 |
ggae AfbaR 7 gamn & a9 10 e ugd
a9l © | gl 99 1045 R Fwar | geare
SR 7 A BT {59 gad JaAr <1 g —

(a)3.55 Am
(c) 10.05 Am

(b) 10.35 Am
(d) 10.15 Am

I 430 R g & e o g2 gd Remw A v ar 50.

He 1 GE @ faw S B

44.

45,

46.

47.

48.

49.

Y is in the East of X which is in the North of Z. If P 1s
mn the South of Z, then in which direction of Y, is P :-

(a) South (b) South-West
(c) North (d) South-East
(e) East

A man walks 5 km toward south and then turns to the
right. After walking 3 km he turns to the right and

walks 5 km. Now 1 which direction is he from the

starting place :-
(a)East (b) West
(¢) South (d) North

If it is 3 o'clock and its minute hand is in the north
direction So tell the direction of the hour hand :-

(a) South (b) West

(c) East (d) North

On keeping a watch in front of a Mirror, it appears

that 07:10. What would be the exact time on the clock

the time 1s :-
(a)5.50 (b)4.50
(c)5.40 (d) 4.40

Mayank reached his office at 8.30 Am which was 15

minutes carly. Tell me what was the fixed time of the

office:-
(a) 8.25 Am (b) 8.45 Am
(c) 8.15 Am (d) 8.05 Am

Buses go every 40 minutes from Delhi to Agra. The
iquiry officer told that the bus had left 10 minutes
back. The second bus will leave at 10.45. inquiry

officer At what time would have informed the

passenger:-
(a)3.55 Am (b)10.35 Am
(c) 10.05 Am (d) 10.15 Am

If at 4.30 the minute hand of a clock is in the east

direction, then find the direction of the hour hand :-

(a) STR—Ul¥=H (b) <feror (a) North West (b) south
(c) SR—Yd (d) SR (c) North East (d) North.
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51, Il 3T THaN T o1 363 fa=1 91 I fa=1 89— 51, If today is Thursday then what after 363 days :-
(a) YAIR (a) Sunday
(b) TFAR (b) Saturday
(c) THAR (c) Thursday
(d) IS W T8I (d) None of these
52. afe fult foT ugar RISSEIEEIN ql IIIR P9 BN~ 52.  If any day before was Thursday then when will it be
Sunday :-
(a) 3T (a) Today
(b) Pt (b) Tomorrow
(c) TR (¢) The day before yesterday
(d) 3T & 2 faT @1 (d) 2 days after today
53. WRA & MU faaw 2016 | NETIN P #9™T 53. Republic Day of India was celebrated on Friday in
T | g feaw 2020+ fv faas w91 T gnm— 2016. On which date will this day be celebrated in
2020 :-
(a) HITAAR (b) IR (a) Tuesday (b) Wednesday
(c) THANR (d) gharR (¢) Thursday (d) Friday
54, HFET aY g 99 Tl © — 54. Which year is not a leap year :-
(a) 1976 (b) 1900 (a) 1976 (b) 1900
(c) 1980 (d) 2000 (c) 1980 (d) 2000
55. I 14 3 1996 HT AR &, A 10 A1 BT I/ 55, If 14 April, 1996 is a Wednesday, then 10 March of
q¥ @ feast B — the same year, what day will it be :-
(A) AHAR (b) IqIR (A) Monday (b) Sunday
(c) HITAAR (d) IR (c) Tuesday (d) Wednesday
56. IO Ub TR B R Hbd dad gU U Higell ¥ 56. Pointing to a photograph, Rajeev said to a lady - "Her
FTdl © “SHD! 959 $ AT W YR B Sheaid g sister's father is the only son of my father-in-law." Tell
2 gAY Yold W IIHT e T © — me what is his relation with Rajeev :-
(a) | (b) 987 (a) Mother (b) Sister
() T () 3T (c) Daughter (d) Grandmother
57. dus 3 AT A e, ‘a8 dSdT ol B Ja Deepak said to Nitin, 'The boy who 1s playing football
A MAT RIS AT A BT a1 among the two sons of my father's wife, tell me how
gaT=d AUP BT T A T e T — 1s Deepak related to the boy :-
(a) TRRT TS (a) The cousin is the younger son.
(b) TS (b) brother
(¢) FeiTaTT (c) nephew (son of father's brother)
(d) T (d) nephew (son of father's sister)
NMMS
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58.

59.

60.

61.

62.

63.

fider: — AB,C,D,E.FU& IRAR & 6
2IC.FH 987 2| B,E® 9fd &1 9IE 2| D, A®T
fOdT €1 3R F ol a1eT & | |35 # 2 far, 39w
CRCIRIIR

/B T —

(@) E b C

(©F (DA

E & Uy &9 3 —

(a)F (b)B ©C DA
FHTER FT G 8 —

(a) 3 (b) T

(c) T (d) T T

U e @e | § GIVE &1 VIEG 21 OVER

®T EVRO fefan S & | ST § A1 3 DISK &l
DY for@r SR —

(a) DISEASE (b) KISD

(c) KDSI (d) SIDK

v f=@d de w1 # INTELLIGENCE &1
ETNIGILLECNE fer@r S &, a1 Sl & «rer #
MATHEMATICAL &7 %¥ forRam ST |l © —
(a) AMHTMETAGILA

(b) TAMMEHTALAC

(c) HTAMTAMELACI

(d) TAME HTAM LACI

U e de wir § GONE &7 5 % 2 # 3R 63.

MEDAL &7 4 #3 $ @ forar Smar €, a1 S &e
q9T § GOLD &7 {6 yar fomar SRAm —

58.

59.

60.

61.

62.

Direction :- A, B, C, D, E, F are 6 members of a
family. C s sister of F. B is the brother of E's husband.
D is the father of A. and the grandfather of F. There

are 2 fathers, three brothers and one mother in the

group.
Who is the mother :-

(aE (b)C

(©F (DA

Who is the husband of E :-

(aF (b)B ©C D)A
How is F related to E :-

(a) Son (b) Daughter

(c) Brother (d) Not known

In a certain code language, GIVE is written as VIEG
and OVER is written as EVRO. How will DISK be
written in that code language :-

(a) DISEASE (b) KISD

(c) KDSI (d) SIDK

In a certain code language, INTELLIGENCE is written
as ETNIGILLECNE, then MATHEMATICAL is
written in that code language. How can it be written:-
(a) AMHTMETAGILA

(b) TAMMEHTALAC

(¢) HTAMTAMELACI

(d) TAME HTAM LACI

In a certain code language, GONE i1s written as 5 % 2
# and MEDAL is written as 4 # 3 $ (@, then in that
code language, How will GOLD be written :-

() 5@ %3 (b)35% @3 () 5@ %3 (b)35% @3

©5#@3 d)5%#3 ©5#@3 d)5%#3
64. AR BAG=71dTVICE=" 64. IfBAG =71 then VICE =?

(a) 69 (b) 70 (a) 69 (b) 70

()75 (d) 90 ()75 (d) 90
65. afE CUP = 40, AT KITE = ? 65. If CUP = 40, then KITE = ?

(a) 10 (b) 15 (a) 10 (b) 15

(c) 33 (d) 43 (c) 33 (d) 43
NMMS

Page 14 of 32



66.

67.

68.

69.

70.

Ues FIT¥E age TSt # it pit sit' BT 31ef € 'Tam boy'
T it nit sit' BT 27ef & 'Tam girl' A 77 § ¥ girl &7

a7 3ref § —
(a)it (b) nit
(c) pit (d) sit

g fad are # 481" &1 3wt B ‘3T T B
246 FT 31 § WIS MET & 698 T 3 © 1 WS
e fagdr & a1 et wea dl He | AT B
(a)1 (b)6

(c)8 (d)9

BT TIRAT HBT SIAT T, AT AR BT T Gell hid
s

(a) PIR (b) ret

(c) AR (d) e

B B, T DI BIAT, Blel BT S, T BT AR
HET OIT 2, O A & ad BT T BN -

(a) oTet (b) X1
ORIEI (d) AR
T 31 U WR Yedl, Sidd, UHTe, Ay 3iR 3MHTRT &

foru Y ereaTdell AL SMHIE, YbIET, U1y,

e, gedl © | A1 981 W, W g9 & forg @&
R —

66.

67.

68.

69.

70.

In a certain code language 'it pit sit' means 'l am boy'

and 'it nit sit' means 'T am girl' then out of, What is the

meaning of girl :-
(a)it (b) nit
(c) pit (d) sit

In a certain code '481' means 'the sky is blue'. 246
means sea . The sea is deep. 698 meaning. looks blue
So speak the it language of the word blue s :-

(a)l (b)o6

(c)8 (@9

If parrot is called peacock, peacock is called eagle,
cagle 1s called pigeon, pigeon is called sparrow, then
which is the national bird of India :-

(a) Pigeon (b) Eagle
(¢c) Peacock (d) parrot

If white 1s called blue, blue is called red, red is called
yellow, yellow is called green, green is called black,
black is called purple, purple is called orange. So what
will be the color of human blood :-

(a) Red (b) Green

(c) Yellow (d) Orange

On another, the local terminology for earth, water, light,
air and sky is sky, light, air, water earth respectively.
So what 1s there to quench the thirst :-

(a) g (b) HPTT (a) Air (b) Light
(c) JAThTA (d) Ui (¢) Sky (d) Water
fader — ffafa et # 3 T faweat § 9 Direction : - In the following questions related to the
Hd BT gy | given options Select
71. STAY : ddbid @ AT ¢ 71. Court: Lawyer :: Hospital :
(a) TTHAR (b) 7RIS (a) Professor (b) Patient
(c) UTIeh (d) gD (c) Client (d) Teacher
72, @R : QAR HAEQT 72. Detective : Informer :: Correspondent :
(a) g (b) THTEHIY (a) Sutra (b) Editorial
(c) e (d) FHT=IR (c) Essay (d) News
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73. T AHE : : GHA : 73. Disease : Cleanliness : : Accident :
(a) TSI (b) Sfdex (a) Car (b) Doctor
(c) WI¥EH Uyl (d) ATeRITI (c) Ointment bandage (d) Caution
74, FR A o Ew 74. Work : Joule : : Perimeter :
(a) uRHT OXEIE (a) Area (b) length
(c) ST (d) TRIR (¢) Radian (d) Hectare
75, fowa qaE=y — 75. Tell the subject :-
(a) FHTST TTE! (b) a1ef I (a) Sociologist (b) Economist
(c) Aifz fasm (d) e o (¢) Tantric Science (d) Pedagogy
76. WHIY BT hH HT H HUR W 21491 21 3R = F 30 76. Manish's rank is 21° from the top in the class. And is
al § | el H g fhad B € — 30™ from the bottom. How many students are there in
class :-
(a)45 (b) 55 (a)45 (b) 55
()50 (d) 40 ()50 (d) 40
77. A,B,C,D,EUf@ Afdai &1 A, B Bl fbf E¥  77. A, B, C,D, E are five rivers. A is smaller than B but
Sl o1 C e g1 9] 21 D, B9 oSl BId) =g older than E. C is the biggest river. D. A little younger
A OIS 91 T | 99 BT A BT § - than B but a little bigger than A. Which is the smallest
river :-
(aC (b)A (aC (b)A
(©D (DE (©D (DE
78. 31, I+ W oW © Il 941 | BT T | offal g9 78.  Anil is taller than Sunny who is shorter than Baby.
A T 2 ST A W BIET & | 941 31 ¥ BIET 7 Anil is taller than Bose who is shorter than Sunny.
I ¥ e BT B9 © — Baby 1s younger than Anil. Who is the youngest among
all of them :-
(a) I (b) 9t (a) Bose (b) Baby
OEIRE] (d) | (c)Anil (d) Sunny
79. TP qem ¥ It 8 aral ¥ XA o ¥ 169 @R 79, Ravi is 16™ from the top and 20™ from the bottom
W 200 ®IF R T 8 dsdi 7 wlaafiar # among those who passed an examination. 8 boys did
ANT el forar 3R 4 S8 o%we <& | dr sl not participate in the competition and 4 failed in it so
PpelT H RSl foa d=® © — tell in class. How many boys are there in class :-
(a) 56 (b) 44 (a) 56 (b) 44
()50 (d) 55 ()50 (d) 55
80. TS ufad # NTgel U™ ¥ 25 HeR R QT © Sfdfd  80. In arow rahul comes at number 25 from the beginning
e A 20 TR AT €, A1 918 Ul # Bl feha while number 20 comes from behind, then tell how
AT 7 - many people in the row :-
(a) 50 (b) 44 ()30 (d) 53 (a) 50 (b) 44 ()30 (d) 53
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81. & T2 I i i ST D =T Rl — 81. Tell the number of triangles in the given figure :-

(a)12 (b)22 (c) 18 (d) 26 (a)12 (b)22 (c) 18 (d) 26

82, & T SICAR] i Rrget &1 e Rl — 82. Find the number of triangles in the given figure :-
(a) 16 (b) 14 (©)12 (d)8 (a) 16 (b) 14 (©)12 (d)8

83, & TS SICAR] i Rrget &1 e Rl — 83. Find the number of triangles in the given figure :-
(a) 10 b)12 (c) 14 ()16 (a) 10 b)12 (c) 14 ()16

84, & TS SICAR] i Rrget &1 e Rl — 84. What is the number of triangles in the given figure :-
(a) 14 b) 16 (¢) 10 ()12 (a) 14 b) 16 (¢) 10 ()12

85. & TS SICAR] i Rrget &1 e Rl — 85. Find the number of triangles in the given figure :-
(a) 18 )15 (¢) 10 ()12 (a) 18 )15 (¢) 10 ()12
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86. & TS IMHRT BT INTAT WAT IARY —

87. 8 o

(a) (b) (© (d)

88. PY ° °

(a) (b) (© (d)

86. What is the next part of the given figure :-

87. 8

(a)

(b)

(©

(d)

88. PY

(a)

(b)

(©

(d)
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89. 89.
? ?
(a) (b) (© (d) (a) (b) (© (d)
90. 90.
? ?
(a) (b) (0) (d) (a) (b) (0) (d)
SAT - Q. No. (91 to 180)
PART - B
fa== SCIENCE
91. = wad ¥ ¥ fhaay Siel &1 uferai ¥ wigenfda™ 91, Rhizobium becteria is found in the roots of which types
SIATe] 9% O & of crops:-
(a) BeAIGR B (a) Leguminous crops
(b) WER B (b) Fibrous crops
(c) ST Bl (¢) Grain crops
(d) 378 9 PIE &I (d) None of these
92, oyl &g ¥ 9% M dTell A HBaNl © — 92. What is the crops sown in the rainy season called :-
(a) @% DI HHA (a) Kharif crop
(b) SIS ®I BHA (b) Zayed crops
(c) W&l & BHEA (c) Rabi crop
(d) 378 9 PIE &I (d) None of these
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93.

94.

9s.

96.

97.

98.

99.

100.

afe a1 9 fF0 avg R foudia fazmen § ard
P & —

(a) &1 gl BT oo

(b) T IAT HT O

(c) 3T 9al &I IR

(d) ST & P E

W AT el S W fod dRT iR 8 —

(a) THATHYT I

(b) I¥ g

(c) FHDT I

(d) T g

Y Uhid SEha TR B B3 alcl 9 BT bud
S

(a) T (b) TIH §A
(c) D T (d) <9
TRAT fhd HROT BT © i—
ORICEIS (d) arer

(c) SaRar (d) IRRHA
o & & uffiferm € -

(a) HaDH (b) AT

(c) SfraTTy (d) @HR

grgall 1 a8 o1 e §RT 9 Uiy uaell
ATey H gl S AHhel & —

(a) STETIIRIIICT

(b) T

(c) A1

(@ R

a8 o1g fo 9 919 | F1eT S Fdhdl & —

(a) WfeTd 3R AR

(b) IRTH MR Dfczrm

(c) AIfeTH 3R URT

(d) TR iR dfcwraH

BIT 3R BIST B R A & ol SHHATA DI ST
qrell AwIAT §fel U B ® -

93.

9s.

96.

97.

98.

99.

100.

If two forces act on an object in opposite directions
then the net force acting on it is:-

(a) Division of two forces

(b) Multiple of two forces

(c) Difference between two forces

(d) None of these

Why do leaves or fruits fall to the ground:-

(a) Gravitation force

(b) Muscular force

(c) Magnetic force

(d) Frictional force

The force acting per unit area is called:-

(a) Force (b) Contact force
(c) None contact force  (d) Pressure

What causes malaria:-

(a) Protozoa (d)Algae
(c) Bacteria (d) Virus
Penicillium is a:-

(a) Fungus (b) Algae
(c) Bacteria (d) Yeast

The property of metal by which they can be beaten
into thin sheet is called:-

(a) Malleability

(b) Tensility

(c) Conducting

(d) Expansion

Metal that can be cut with a knife:-

(a) Sodium and potessium

(b) Bartum and Calcium

(¢) Sodium and Mercury

(d) Potassium and Calcium

The naphthalene ball used to drive away pests and

nsects is obtained from:-

(a) LPG (b) Ugiferd | (a) LPG (b) Petroleum
(c) AT & (d) TRBTT A (c) Sugar (d) Coal tar
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101. F=faRaa & & s STaTie © — 101. Which of the following is inflammable: -

(a) AR BT DIt (b) dfa (a) Iron nail (b) Glass
(c) TeR & @‘cﬁa\r (d) ®TITST (c) Pieces of stone (d) Paper
102, =79 A9 o/ R H18 U=TRf 3T Udhsdl & 102, The lowest temperature at which a substance catches
S FEd © - fire is called:-
(a) FAATTH (b) eI (a) Boiling point (b) Melting point
(c) Sdc dT9HATT (d) wifdres qIHT (c) Ignition temperature  (d) Critical temperature
103. FrAfRad 3 A ST BIRER Wahfdd 9gad © — 103, Which of the following fibre is a natural polymer:-
(a) X (b) ®urd (a) Rayon (b) Cotton
(c) UTfereex (d) dfferef= (c) Polyster (d) Polythene
104. Tﬁ BT IS T — 104. Chickeneggis:-
(a) 3T (b) ThHt HIRMBT (a) Organ (b) Single cell
(c) D (d) STH & P T3l (c) Tissue (d) None of these
105. 1. T Sl § — 105. CNGis:-
(a) Ufud B (b) W5 &M (a) Polluted fuel (b) Clean fuel
(c) BN ®R® SeH (d) STH & P T3l (¢) Harmful fuel (d) None of these
106, ToMHE fhad wIfad 81 W8T & — 106. Tajmahal is getting affected by :-
(a) 91 YUl (b) a1 wguoT (a) Air pollution (b) Noise pollution
(c) ST UqyUT (d) STH & P T3l (c) Water pollution (d) None of these
107. GIR W ST oM 9 g9 & oy S99 W) WNd @@E  107. Iron is coated to prevent in from rusting:-
EIGIRE
(a) PR (b) i (a) Copper (b) Zinc
(c) Tgfafam (d) R’ (c) Aluminium (d) Silver
108. faSTell &7 o fhad HRUT Tofdl © — 108. What causes the electric lamp to burn:-
(a) T 9H1q (a) Heating effect
(b) IS TG (b) Chemical effect
(c) BT 9T (c) Magnetic effect
(d) STH & P T3l (d) None of these
109. faga &1 garad uarel § — 109. What is good conductor of electricity:-
(a) TN (b) TS (a) Rubber (b) Paper
(c) dret (d) @iRed (c)Nails (d) Plastic
110. 9d1 &1 g1 fbas Ty Sorard T - 110. What is responsible for the tilt of earth:-
(a) g URac (a) Season change
(b) fe=T &1 aRacd= (b) Change of days
(©) ?1'5[ Bl fpeor b1 aRac= (¢) Change of sunlight
(d) STH & P T3l (d) None of these
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111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

NidRe v =81 giem & —

(a) T (b) BT

(c) AT (d) Tl

ART 1 @ A o ¥ -

(a) WX (b) freiriex

(c) wabrer ay (d) 37 A PIg el
AR AvSd BT AEH g1 Ug DAl & —

(a) JEedfa (b) g8

(c) #Te (d) =ty

T gl 1 faqwl 81 @& BIR WR §, AR
T

(a) HHSRI YTl (b) faqwr ot
(c) I ottt (d) 379 A B T
TR # 3T Uhfde AEE

(a) Wi (b) 3T

(c) et (d) AroE e
Ul # T & 8 T BT BRT © —
(a) FARIGS aufdm (b) THFAIT avied
(c) TeATGH (d) sgferT

et 3 9 urgpfie as § —

(a) THD (b) T

(c) AT 3MRST (d) Afded ra

Foial ¥ IR 9 ufdne uerl a1 a8y Mt
PEAT & —

(a) UTer (b) S

(c) Taw (d) ST

g BT THD T i—

(a) =g OEIYAEES
(c) fopatrum (d) frariex
Mgy # e fhar ST § -

(a) Tharfex (b) 8T

(c) U™ (@) fef=<iie
g1 % Seadd ufqwd ¥ 8T -

(a) SIS (b) SRS

(c) PIET S SifaSS  (d) A

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

121.

Internal fertilisation is not found in :-
(a) Cow (b) Dog
(¢) Human (d) Fish

The distance of the stars is measured in:-

(a) Meter (b) Kilometer

(c) Light year (d) None of these

Which is the largest planet in the solar system:-
(a) Jupiter (b) Mercury
(c) Mars (d) Saturn

Species which are on the verge of extinction are also
called:-

(b) Extinct species

(d) None of these

(a) Endangered species
(c) Endemic species
Nature has a renewable natural resource:-

(a) Limited (b) Unlimited

(c) Rare (d) Does not exist

The reason for the green colour of leaves in trees is:-
(a) Chlorophyll pigment  (b) Hemoglobin pigment
(c¢) Phloem (d) Insulin

Which of the following is natural indicator:-

(a) Salt (b) Turmeric
(c) Methyl orange (d) Lactic acid

Elimination of intact substances from the body in living

being is called:-

(a) Digestion (b) Excretion

(c) Respiration (d) Reproduction
Unit of force is called:-

(a) Newton (b) Meter / sec
(¢) Kilo Gram (d) Kilo meter
.................. 1s expressed in frequency:-

(a) Kilometer (b) Hartz

(c) Gram (d) Degree centigrade
Highest percentage in air:-

(a) Nitrogen (b) Oxygen

(c) Carbon Dioxide (d) Argon
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122. §hdEc AR AAMEA fHadPT IS § — 122. Bakelite and melamine are example of'-
(a) T (b) TRIAT (a) Silk (b) Nylon
(c) W= (d) THtafeT wniRed (c) Rayon (d) Thermosetting plastic
123. SNfAd Sial 3§ [ A@Td IHbTS © — 123. The basic structural unit in living organisms is:-
(a) DIRMBT (b) b (a) Cell (b) Tissue
(c) 31 (d) 3T—a= (c) Organ (d) Organ system
124, A YRIe ©, Sl 9 WU SR 124, .. the source book that keeps a record of
?f’*—'l yoTforat &1 Rafs &l § — all endangered animals and plants is:-
(a) & ST EE2 (a) Blue date book
(b) XS SIeT EE2 (b) Red data book
(c) M =T EE2 (c) Green data book
(d) &P SIeT EE2 (d) Black data book
125. facifid C o &0 & 89 a1 T © — 125. Vitamin C deficiency disease is:-
(a) Rcw (a) Rickets
(b) W—TA (b) Berry Berry
ORGLEN (c) Night blindness
(d) Thdf (d) Scurvy
RILNSCACE L SOCIAL SCIENCE
126. IR BT g P9 I — 126. When did the battle buxar take place:-
(a) 1757 (b) 1764 (a) 1757 (b) 1764
(c) 1767 (d) 1774 (c) 1767 (d) 1774
127. Ugell SR Wl 1651 7 69 T & f&TR g% 127. The first english factory started in 1651 on the bank of
g — which river?
(a) gl (b) THg-T (a) Hugli (b) Yamuna
(c) Tdel (d) ATEHA (c) Chambal (d) Sabarmati
128, Y0P F T ¥ URIHF © — 128. Who is known as Sher-e-mysore us known as:-
(a) ﬁlﬂw (b) BER3TAT (a) Sirajudoula (b) Haidar ali
(c) E1Y Gedl (d) IR SR (¢) Tipu Sultan (d) Meeri jafar
129. ot g% (1793) AN fbam 7T, 39 W9 YR 129. The permanent settlement (1793) was implemented,
P IR SR o — at this time the governor general of India was:-
(a) ATS HIATfeTT (a) Lord cornwallis
(b) AT SABISH (b) Lord Delhousic
OGIERISE Al (c) Lord mountbatten
(d) a1 RS (d) Lord hastings
130. dfardr e &1 Hee & — 130. Calico act is related to :-
(a) BTl T (b) PIR (a) Black pepper (b) Copper
(c) HoaT T (d) dust (¢) Crude o1l (d) Cloth
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131. f&aa YSId U¥ 1856 # fawar faare @ uer o @7 131. On whose suggestion the law was passed in favour of

qiRkd g3l —
ORIESIRGIEIE]

(b) S¥REE IR

(c) SR |18 W™
(d) Tl TaFE [l

widow remarriage in 1856:-
(a) Pandita Ramabai

(b) Iswarchand Vidyasagar
(c) Raja Ram Mohan Ray

(d) Swami Dayanand Sarswati

132, g™ 18 qW& & oGd © — 132. The author of the book 'gulamgiri’ is:-
(a) Sf. HFRIT fdEax (a) Dr. Bheemrao ambedkar
(b) HETHT TN (b) Mahatma Gandhi
ORI N (c) Pautty shri ramulu
(d) SARIRTT e (d) Jyoti rao phule
133. BRAT 99T § MM BT HBT oal © — 133. 'Ware house' is called in farsi language :-
(a) T (b) TaiT (a) Tanti (b) Devang
(c) 3TRIT (d) M= (c) Aarang (d) Momin
134, 787 9RA ¥ [ATHI ARTAT B PRI BT — 134. Who started Satnami movement in central India :-
(a) TS (b) eRe™ (a) Ghasidas (b) Haridas
(c) gevara (d) Ye™ (¢) Sunder das (d) Raidas
135, &1 |1 31 A 7€ § — 135. Which one of these is not a method of 'Soil' conservation:-
(a) Wed 9T (a) Mulching
(b) 3rfT=RYT (b) Over grazing
(c) afepT HIH (c) Vedika farm
(d) 3eTH IRGeATY (d) Guard bands
136. AU ST Hl HTQj?f DT & HRD T - 136. The main source of fresh water supply is:-
(a) 9T ST (a) Growing poluation
(b) THAT BHAT DI gl AT (b) Growing demand for cash crops
(c) 9T TTIHIVT (¢) Increasing urbanization
(d) SIRYFT T (d) All of above
137. fava &1 aufa & I YD E:) A T 137. Inhow many categories are the main types of vegetation
# qieT T T - of the world divided:-
(a)2 (b)6 (c)4 d8 (a)2 (b)6 (c)4 d8
138. 3Erfcad WS BT SN ol & — 138. Which one of these is not an example of a non metallic
mineral:-
(a) HIIIST (b) 3P (a) Manganese (b) Mica
(c) T U@ (d) Rreas (c) Limastone (d) Gypsum
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139. fava &1 veM Siot fagd STe B drell <% — 139. The world's first hydro power producting country is:-
(a)g T v bI D (a) USA (b) UK
(c) T (d) =uret (¢) Norway (d) Nepal
140. %1 # 9 59 T &1 SR, ey 8T © — 140. Which of the following colour diamond is the rarest
diamond:-
(a) AT (b) & (a) White (b) Green
ORIGL (d) g (c)Blue (d) Yellow
141, WRH] FHSl BT B ST Rerd & — 141. 'Kaiga' the center of atomic is situated at :-
(a) FilcH (b) HIA (a) Karnataka (b) Keral
OEILLERIS (d) HENIYS (¢) Tamilnadu (d) Maharastra
142, "Rd P AT HEAT © — 142. Which one of these known as manchester of India:-
(a) HreTarsT (b) Fﬁ (a) Bheelwada (b) Mumbai
(c) faeell (d) A (c) Delhi (d) Ahmedabad
143. fafedhear &1 e § — 143. Viticulture is related to :-
(a) YTH ST (a) Sericulture
(b) Hesll IUTEHA (b) Vegetable production
(c) MR STEH (c) Graphes production
(d) ergq IAIeT (d) Honey production
144, W AfaE™ &1 STHd $8l ol § — 144. Who is known as the father the Indian consitition:-
(a) Sf. HFRIT fdEax (a) Dr Bhimrao ambedkar
(b) Sf. Iolvs TS (b) Dr. Rajendra prasad
(c) WETHT e (c) Mahatma gandhi
(d) U. SaER AT e (d) Pt. Jawahar Lal Neharu
145, IOl gRT AlAdT § A9FIG 9T &I AT 145, The number of menbers nominated by the president
T— in the loksabha is:-
(a) U (b) aT (a) One (b) Two
(c)s¥ (d) IRT (c) Ten (d) Twelve
146, 159 39 A9 H Ugell IR Y¥ <9 H § 1 GH &1 146, Inwhich general election, EVM were used for the first
ST fhar Tar - time across the country:-
(a) 1989 (b) 1996 (a) 1989 (b) 1996
(c) 1999 (d) 2004 (c) 1999 (d) 2004
147. 9% MRS B Sad &1 ARPR A FERIT 147, The article deals with the right to life of every citizen:-
IWT © —
(a) 3T 21 (b) 3= 24 (a) Article 21 (b) Article 24
(c) 3T 28 (d) 38T 30 (c) Article 28 (d) Article 30
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148, FERTE 1 faveurd waliel ARREE f6a Sfd & 148. To which caste does maharashtra's famous poet
T © - soyrabai belong:-
(a) g1 (b) M (a) Munda (b) Gaud
(c) U8R (d) g (c) Mahar (d) Santhal
149, FeaR QAR FT oy 59 G ¥ & — 149. Sachar committee is related to which community:-
(a) Bvg (b) g (a) Hindu (b) Muslim
(c) Rrag (d) 398 (c) Sikh (d) Isai
150, I9M H QM H o S AT © - 150. At present how many high courts are they the country:-
(a)28 (b)29 (a)28 (b)29
(c)15 (d)25 (c)15 (d)25
151, 26 Fde= BT gfday F9R—T ST © - 151. Celebrated annually on 26" november:-
(a) Tac=ar faaw (a) Independence day
ORNGERETE] (b) Republic day
(c) wfaem faaw (c) Constitution day
(d) wrEre feaw (d) martyrs day
152, MR GAS BT 30T 78] & i— 152. Is not a part of the India parliament:-
(a) TEIFTHAT (b) Iyt (a) Prime minister (b) President
(c) ATHIHT (d) IroTFHm (c) Loksabha (d) Rajyasabha
153. 3 & |RI 6 S aTAT 9T o — 153. Which state was in alliance with the british:-
(a) SIYR (b) STIYR (a) Udaipur (b) Jaipur
(c) ARAYR (d) PIeT (¢) Bharatpur (d) Kota
154, 1857 &1 Hifd & AT o # AM$ BEMAT 154, During the revolution of 1857, military camp were in
ofr— Rajasthan:-
(a)6 (b) 8 ()10 (d12 (a)6 (b) 8 ()10 (d12
155. USHTHRUT & Yo oA BT ThATS a2l ad U9 155. Before integration the only union territory of Rajasthan
o — was:-
(a) E‘;‘ﬁ (a) Boondi
(b) et (b) Lava
(c) RIATS (c) Kushalgarh
(d) TR — ARATST (d) Ajmer & merwada
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156.

ORI B THAE S 9 9Rd O¥hR 5 156.

Mfed ST &1 gl # wnfae fvar & —

The only tribe of Rajasthan which has been indude in

the list of primitive tribes by the govt. of India:-

(a) ¥t (b) AT (a) Bheel (b) Sahariya
(c) SFR (d) TRIRTAT (c) Damor (d) Yarariya
157. ISR ¥ il Sudel [el § — 157. The most available mineral in Rajasthan:-
(a) AP BRDT (b) a1 (a) Rock phosphate (b) Lead
(c) ST (d) draT (¢c) Zinc (d) Copper
158. IoIE ¥ Ugedl ¥ FAS Te — 158. The first train was run in Rajasthan:-
(a) 1853 (b) 1857 (a) 1853 (b) 1857
(c) 1874 (d) 1919 (c) 1874 (d) 1919
159. |ATSIT 3T BT &= TR © — 159. The main objective of the shared compaign is:-
(a) =T HOT AT bl (a) Stop female feticide
(b) 91 faars & T T HT (b) Gettling rid of child marriage
(c) T&ST YAT BT AHT (c) Stop dowry system
(d) faR &= &1 fadrg BT (d) Develop special areas
160. Hreil Rer 3R ang T & W W [T gif & :—  160. The fort built at the confluence of kalisindh and ahu
river is:-
(a) ABTTG @?1( (a) Lohagarh fort
(b) STAR g7t (b) Jalor fort
(c) BHTTE It (c) Kumbalgarh fort
(d) TRE g (d) Gagron fort
T MATHEMATICS
161. [30+(=5)]+(-2) & A AT :— 161. The value of [30 +(—5)] +(-2) will be :-
(a)2 (b)-2 (a)2 (b)-2
(©3 (d)-3 (©3 (d)-3
162. 66/12 @1 fafda =1 grft - 162. The mixed fraction of 66/12 will be :-
(@) 45 ®) 5 (@) 45 ®) 5
© 35 @ 55 © 35 @ 55
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163. 9 ¥ ¥ 3 U T — 163. Which of the follwoing is a false statement :-
(a) 9gddd fdpel ¥ ¥ ddd Udh AT BT & | (a) Mode 1s only one of the numbers in the figure.
(b) Wty fau g el § I U A% B AhT o | (b) Mean can be a number from the given data.
(c) ATETD Sfidbel H W Had b H&AT BIT & | (c) Median 1s always a number in the data.
(d) 3rfhel 6,4,3,8,9 HT ART 637 | (d) The mean of the data 6, 4, 3, 8, 9 is 6.
164, 5T W& & T # 5SS W 11 ST 4 A1 TG 164, Adding 5 to thrice a number gives 4 times of 11. then
BIAT ©, AT 98 | BFl — that number will be :-
(a)13 (b)21 (a)13 (b)21
()7 d8 ()7 d8
165. fer v R d 1=70° B A1 6 & 99 RT 165. If ]1=70° in the given. Figure, then what is the
BT value of 6 will happen :-
v v
374 374
6 f 6 f
(a) 70° (b) 110° (a) 70° (b) 110°
(c) 180° (d) 140° (c) 180° (d) 140°
166. foodr et H fopa 21frd PIvT BT Ahd B - 166. How many obtuse angles can a triangle have :-
(a) Tdh (b) aT (a) one (b) two
(c) T (d) IS T8I (c) three (d) none
167. gl 1 X1 61 Bl ST Wbl © — 167. A triangle cannot be drawn when :-
(a) AT YoIg €1 89 W (a) Given all three sides
(b) T DIUT AR STH I Bl it &1 M W (b) Given two angles and the side between them
(c) U I 3R T it &1 M W (c) Given one angle and one side
(d) & I 3R Sd §Td BT BHIT foar 89 W (d) Given two sides and the angle between them
168. Teh X &1 HT Jed ® 400 A H W 15% I 168, The cost price of an article is Rs 400 if there is a loss
g a1 faa g 8N — of 15 % on it. Selling price will be :-
(a) ¥ 460 (b) % 340 (a) Rs 460 (b) Rs 340
(c) % 300 (D)™ 415 (¢)Rs 300 (d) Rs 415
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169

170.

171.

172.

173.

174.

175.

oo

T AR BT Aredr 11 AR oI arel a1 §9RI

ST © e Sl AR Bl HISdY < a1 Y

I &1 e grfr -
(a) 7 94 (b) 11 ¥
(c) 10wl (d) 12 39

A8T H 9% T X I 1 a9 UTaTd 45 . & B

w0 ¥ feu S fhdam 99 SuR foram o —

(a) ® 400 (b) % 500
(©) % 450
TP TEATTRA 316 P Fa BIdl A& 8§ 3 3

3 Al B wE g © -

(d) % 1000

(a) 15,17 (b) 15, 16

(c) 64, 63 (d) 64, 63

2P T B IDIS BT AP BN —

(a) 1 (b) 2

() 4 () 8

fre iy | &1 S Yohv 8 8l —
(a)2 (b) 1

(©)-1 () 0

15 a9 91 HIfRd BI AR Ul add 3 (x Iu) A
471 81 Sl gwe forg Sfd |HievT © -

(a) 15x=4

(b)x— 15 =4x
©)x+15=4x
5 agyst o fawort &1 31 9 9 qfeals 81
BT S P8I IRl & —

() 4x+15=x

169.

170.

171.

172.

173.

174.

175.

A wire 1s bent into a square of side 11 cm. If the same
wire 1s bent into a circle, the radius of circle will be :-
(a) 7cm (b) 11 cm
(¢) 10 cm (d) 12 cm

Rohan paid Rs 45 as interest after 1 year at 9 % per
annum. How much money did he borrow :-

(a) Rs 400 (b) Rs 500
(c) Rs 450 (d) Rs 1000

The smallest number of a pythagorean triplet is 8. The

correct pair of remaning numbers is :-

(a) 15,17 (b) 15, 16

(c) 64, 63 (d) 64, 65

The units digit of the cube of 42 will be :-
(a)l (b)2

(c) 4 (d)8

Which rational number has no reciprocal :-
(a)2 (b)1

(c)-1 (@o

Mohit's age after 15 years will be 4 times of his present

age (x years), which equation represents this :-

(a) 15x=4 b)x-15=4x
(©)x+15=4x (d)4x+15=x
Which polygon no part of the diagonals is in the

outflow. That is called :-

(a) 3Tadd dgHol (b) 3Tl SgYST (a) Concave polygon (b) Convex polygon
(c) 3tadd et (d) S<Id gt (c) Concave triangle (d) Convex triangle
176. 39T T B WRIHAT B © — 176. The probability of an impossible event is :-
(a)2 (b)1 (a)2 (b)1
(©0 d) % (©0 d) %
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177.

178.

179.

180.

XY, ¥z, zX BT TOHH BRI -

(a)xyz

(b) xy +yz + 7x

(©) X’y? 22

() xy —yz - zx

TP Ighad H 4 Hodd 3R 4 MY 2, 39 fHIR
S
()2
©) 6 () 8

B FHIR TSt ABCD @ &1 34— $I01 AT B
BT AU 2:3 %, A AT A BRI —

(b)4

(a) 72° (b) 90°

(c) 108° (d) 100°

|HAE el & e W o U © -

(a) THETE RIS BT AHT YoIY a_TER A &1 Sl
=

(b) FHETE RSt & AT BIOT IR A9 B B 2 |

(c) AAETE F3rT & 3id: BIOI BT AT 360° BT 2 |

(d) G9aTg RS & 91=T HIOT T T 360° BT % |

177.

178.

179.

180.

The product of xy, yz, zx will be :-

(a)xyz

(b) xy +yz+zx

(c) x*y? 72

(d) xy —yz—zx

A polyhedron has 4 faces and 4 vertices, its edges will
be :-

(a)2 (b)4

(©) 6 (d)3

Two adjacent angles A and B of a parallelogram ABCD.

If the ratiois 2 : 3, then the value of A will be:-

(a) 72° (b) 90°

(c) 108° (d) 100°

The incorrect statement with respect to an equilateral
triangle s :-

(a) All three sides of an equilateral triangle are of equal
measure.

(b) All three angles of an equilateral triangle are of
equal measure.

(c) The sum of the interior angles of an equilateral
triangle is 360°

(d) The sum of the exterior angles of an equilateral
triangle is 360°
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